CA S B E E- :“: CASBEE_ CASBEE-NCb_2004v1.41

2006 7 8 coo 2006 7 10 [ oo

22
2006 11 5F
3,332 RC
687 100
2,254 3,750 /

2.6 SQ = 0.4* SQ1 + 0.3 * SQ2 + 0.3 * SQ3

ST 3 31 31 ]| -
LR-1 lR-3 |, a 2123 2t
0.4 0.3 20 10 20
1 1 1
4 4+ 4t
39 40 40
35
3 3 3
30 >
25 2t 25
2 22 2 |2_.0|
. 1 . 10 10
-2 BEE Building Environmental Efficiency
BEE
=3, BEE=15 =
100 BEE=3.0 : BEE=1.0
A B
25 (Sq-1) 40 0.8
B- 25 (5-SR) 50
50 [ ... L. CREEEE PR
o BEEF05
; Q=25 (Sq-1) *Sq: Score of Q category
' c SQ=0.4*SQ1+0.3*SQ2 +0.3*SQ3
0 ¢ ® L=25 (5-Sir) *Sig: Score of LR category
0 5050 L 100 SLR = 0.4 * SLR1 + 0.3 * SLR2 + 0.3 * SLR3
3
-1
0 10 20 30 40 50/
/ .
kg-CO,/
m¥/




